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What are some examples of run- What is Anti-Spyware Software What is the main reason why
time errors networks succumb to aftacks and
loss of data
What is the hexadecimal What are the two main types of What are the three categories of
representation of the 8-bit binary loops in programming Black Box Testing
number 01010101
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What are some examp les of run- What is Anti-Spyware Software What is the main reason why
fime errors
networks succumb fo attacks and
Arithmetic errors like dividing by - Anti-Spyware Software is loss of dafa
< 1 dedicated to finding and destroying
zero or finding the square root of a . . "
. spyware files that aim to spy on the - "People, who are often the
negative number, overflow errors, . .
. user and send back as much weakest point when it comes to
stack overflow errors, and library | . . . e
eITOrS information about them as possible. system security.
What is the hexadecimal
representation of the 8-bit binary What are the two main types of What are the three categories of
number 01010101 loops in programming Black Box Testing
The hexadecimal representation of Count-controlled loop and Valid, Invalid/Erroneous, and
the 8-bit binary number 01010101 is condition-controlled loop. Borderline/Extreme data.
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